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— 2 A= E0H| 60,000 *1H x103] 600
201 282 A H| 70,640 62,700 7,940
01 ArE2te2ld] 55,200 29,000 26,200
= 0l & 55,200 29,000 26,200
oorsets) d&A DS otoleE 2=
3,000,000& *14] 3,000
O3 detx=2H| 500,000& x12& 6,000
ObtS2ssH =AtdE M
10,000& 400 4,000
OASl B2 2208 2% dbBt=2H|
500,000& x2E5x12& 12,000
Olt= o2& MZ 1,000, 000& *43| 4,000
OANBIs2d Zg)d 89 5,000,000& *53| 25,000
OASIE&EHE ccty Hl =22
100, 000& ~12& 1,200
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SN

HE: FOXK(LUBIYE /L)
Sl NBIHsE MBISH 288 =3 (B9 @
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
s20I2 M ALY 147,160 31,100 116,060
201 w2yl 32,160 11,100 21,060
01 AtR2lY| 27,000 3,600 23,400
=0 & 27,000 3,600 23,400
ONS43 JtH 221 29
250,0002 * 122 3,000
Odols DigZas ZAMNY (AXR)
2,000,000 *127H 2 24,000
02 23293l 5,160 7,500 A 2,340
=0 & 5, 160 7,500 £2,340
Osl%0e 2¥ 22 5, 160
—®Je2 70,0008 %274 4 * 128 1,680
— ¥5t423 70,0002 ¥20 4 « 122 1,680
~HM3 U SAHR3 50,0008 <200 A+128 1,200
- ES-PS 150,000 *20H 4 *23] 600
401 ANEHL2UY 70,000 20,000 50,000
01 Al&HI 70,000 20,000 50,000
=0 & 70,000 20,000 50,000
ONS43l cafe HE BIJIE A&
10,000,000 * 14! 10,000
OUols D2gas ZAAY(22Y)
60,000,000 *14! 60,000
405 XrarE St 15,000 0 15,000
01 TAUSEHSY 15,000 0 15,000
=0 & 15,000 0 15,000
OUOSHISEAA ZAAY(SETY)
15,000,000 * 14! 15,000
406 JIEIXHR O 30,000 0 30,000
01 JIEFX=OIH 30,000 0 30,000
= 0 4t 30,000 0 30,000
OUols Dig2as ZHNY(2ED)
30,000,000 *14! 30,000
SOHBYTANL(2HHCBADS 22 e 1,260,000 1,400,000 140,000
Aed)
o 630,000
Al 630,000
201 Yergl 62,000 62,200 200
o 31,000
Al 31,000
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SN

Hu: ZONA(YUBEHE /LY UE)
oo N=JisE MBREH 243 XA CER-E
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
01 At 2t2ldl 50,000 52,000 A 2,000
rag 25,000
Al 25,000
= 0l & 50,000 52,000 A 2,000
Fag 25,000
Al 25,000
OllS2ssH 48 =220 29
10,000,000& x3& 30,000
Fag 15,000
Al 15,000
OETZZAIOIES |ER7A XNI_AE A&
20,000,000 *14! 20,000
Fag 10,000
Al 10,000
02 3294l 12,000 10,200 1,800
Fag 6,000
Al 6,000
= 0l & 12,000 10,200 1,800
Fag 6,000
Al 6,000
OEZZAIDIE HEANEZE 29 3329
ull 12,000
— S22d9H(ESHE,2A, )
1,000,000& «12& 12,000
Fag 6,000
Al 6,000
301 ot A= 39,600 0 39,600
Fag 19,800
Al 19,800
09 SAIAHIEAZ 3,600 0 3,600
Fag 1,800
Al 1,800
= 0ff A 3,600 0 3,600
Fag 1,800
Al 1,800
OE T 2ADIS2ZXRSAISF=ESEOAA
& XX A s 60,000& *30H 23| 3,600
Fag 1,800
Al 1,800
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SAM: RXIE A D
Hu: FONK (YU RITHE /L)
Ol NEJlss MBREN 243 24 CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
12 JIEt2 &= 36,000 0 36,000
s 18,000
Al 18,000
= 0l & 36,000 0 36,000
fax 18,000
Al 18,000
O2Z2NHE ANEE UtSoHEM 22
50,0003 *3F x 10«20 &« 12& 36,000
= 18,000
Al 18,000
401 Al&HI 20| 958,400 1,267,942 A 309,542
s 479,200
Al 479,200
01 Al&HI 958,400 1,263,377 A 304,977
s 479,200
Al 479,200
= Ol &F 958,400 1,263,377 A 304,977
s 479,200
Al 479,200
OZET2AM0tS Z2XE ALY
958,400,000 14 958,400
= 479,200
Al 479,200
402 QIZ2HX =0l M 200,000 0 200,000
Fas 100,000
Al 100,000
02 QAT 2AILEX(0I™THIA) 200,000 0 200,000
= 100,000
Al 100,000
= 0ff & 200,000 0 200,000
as 100,000
Al 100,000
OEZ2AMOI2 87X KNI AMS
10,000,000 20t 7 200,000
s 100,000
Al 100,000
FO=EE ZSINELI AL 250,420 250,000 420
201  etg| 188,420 176,000 12,420
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SN

Ha: FONK(LHBDHT /AU HE)
S9l: N&IisSE MBISH A8 =X CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
01 At 22l 7,080 1,300 ~4,220
=04 7,080 11,300 ~4,220
Ousz "o slo+g
20,0001 *20% *73l 2,800
OAY B2 Hol8T X
8,000 *23] x302 480
OB2AY MOARRE AR
100, 0002 *82 %23 1,600
OEEHT R 2,000% %250 +23] 1,000
OfstZ HREF s+
10,0002 * 122 1,200
02 Zz2l 5,340 8,700 ~3,360
=0 5,340 8,700 ~3,360
O®IIL2 250,0002! 122 3,000
ONB+ER2 80,0002 *128 960
OELEZ-PY 150,0002 x23] 300
OsM23 90,0002 *12% 1,080
03 A2 ] 176,000 156,000 20,000
=0 176,000 156,000 20,000
O=HS2 HHSHE A8 LBTA 2
176,000, 000! * 14! 176,000
307 QIR0 H 50,000 50,000 0
02 BIATMMEBE 50,000 50,000 0
=04 50,000 50,000 0
Ost2 #8s STSH A
5,000,000 *103] 50,000
401 AEHILRHE 12,000 24,000 A 12,000
01 A&l 12,000 24,000 A 12,000
=0 12,000 24,000 A 12,000
OzHUSZ HH3 A
1,500,0002 %8JH 12,000
NejeizysH(=8 RRYY FYB 2SI|) 9,600 240,000 230,400
201 sty 6,600 0 6,600
01 At 2r2lt| 3,600 0 3,600
=04 3,600 0 3,600
OMEBIMBME DIS2SH T2 29
300,0002 * 122 3,600
02 Tz 3,000 0 3,000
=0 3,000 0 3,000
OMEBIMEME 28 2223 3,000
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SN
X ZH -
L=

el

FOXNX(LEts3 Y /et
AEotse d23sH 24

o)
{0
]
{0

SH-EH. O (AN) - NRANY - B o ) HDE2
- &3 100,000& 123 1,200
—&otlx=23 100,000& 123 1,200
— NSRS 50,000 «12& 600
401 Al&HIZ 20| 3,000 3,000
01 Al&UI 3,000 3,000
= 0l & 3,000 3,000
OMEIMEHEH Ald R
3,000,000 » 14! 3,000
orsti2 gg=s 2SIl 30,000 30,000
= 30,000
401 A&BIZ =208 30,000 30,000
= 30,000
01 Al&HI 30,000 30,000
= 30,000
= 0l & 30,000 30,000
& 30,000
Ooggzs FEMH Z2F HAAE(L=100m)
30,000,000 *14] 30,000
= 30,000
MeZH ZRAH 29 7,800 7,800
301 LerEa3 2,800 2,800
09 AAHIEAZ 2,800 2,800
= 0l &F 2,800 2,800
Odaz ZRHAdH XD SAH2Z
14,000& x20H * 103 2,800
405  RHA&HFE S 5,000 5,000
01 XaH=ESHSHI 5,000 5,000
= 0l & 5,000 5,000
OdeEs® ER4dH 29 500,000& *10& 5,000
T AABXNYGNHL A 54,000 54,000
== 54,000
401 A&HIZ=R0b 30,000 30,000
= 30,000
01 Al&Hl 30,000 30,000
= 30,000
= 0l & 30,000 30,000
= 30,000
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SN

M FONX (LU DN /UL
Sel: XBIss MB2SH 2435 =3 S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
OEMHEY 32 ZH(¥T L X2 &1
) 0,000,000 x 14! 30,000
< 30,000
402 QItXE0| A 24,000 0 24,000
< 24,000
02 QIZIN2ALEBE(0IETS) 24,000 0 24,000
[= 24,000
=0l A 24,000 0 24,000
< 24,000
OYMCAAIR &l JISE2(XIGtA 212ad)
24,000, 0002 14l 24,000
[ 24,000
AMSIHAM SHsHASE2N/cS) 3,218,465 1,731,518 1,486,947
= 280,000
=2 1,689,450
[= 294,373
Al 954,642
ANSEAH == 4 3,218,465 1,731,518 1,486,947
2 280,000
=2 1,689,450
[= 294,373
Al 954,642
ASIEHZH X 148,607 71,304 77,303
101 Q1 2y] 33,672 0 33,672
04 JIZNZ22UHEES 33,672 0 33,672
=0l At 33,672 0 33,672
OMBIHIMINAETNSHI 22 2ROIA
bl 33,672
-Jl=22 66,8009 x22 %212 «8 2 22,445
= 66,8002 x22 %342 4,543
—20AHZ 30,791,200 *4 . 5% 1,386
—2ALLE 30,791,200 *3. 12% 961
—nEY¥ 30,791,200 *1.5% 462
—FHIQUALTEH 960,685 *7.38% 71
— Azt 2ese
, 35024 * 1. 5% 10 Al 2t %22 »8 2 2,004
— EX0H 60,0002 x2% x153] 1,800
201 LEr29H] 66,680 53,284 13,396
01 AbRZ2lH| 56,680 43,284 13,396
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SN

AR S &t

HE: MEANAH BAS(ABEX/CS)
Sl MEEEH EX S4 (2@
x s . Of &t o8 & & 0 A o -
N-Z3H .22 (3H) - MRAY - BES (Z= o) (713 o) Hns2
= 0l & 56,680 43,284 3,396
OMBIEAX 22 =7 Sl
8,00021 *38 »102 +122 2,880
OANSIEHAK JNLHE &SI
5, 0002 x200% 1,000
OMNSIHAK 245 AV +9
100,000 *8 23| 1,600
OAMBIHZH 2 O5tHOI, 438 S =
% 520,000 *103] 5,200
OMSIHAM SHXE ABL5t
1000, 0002 %2074 2 40,000
OBAE ES8D 2% 3,000,0008*13] 3,000
OSiMeI HERS ¢ MEZ2IY 29
3,000,000 *13| 3,000
03 A2 10,000 10,000 0
=0 & 10,000 10,000 0
OABIHAR X2 JSBAY EHatabl 2
H ol 10,000,0002 * 13l 10,000
202 Ot 5,520 5,520 0
01 2Uhoidl 5,520 5,520 0
=0 & 5,520 5,520 0
ontg, MEEIIY HEFY
60,0002 x22 +324 # 10 3,600
OO, ASIEIIY MA S 8lo &4
60,0002 x22 »123] 1,440
O, ABIEIIQ stars aA
60, 00021 x22 %22l #23] 480
207 I 30,000 0 30,000
01 ARS | 30,000 0 30,000
=0 & 30,000 0 30,000
SHA AN B3 NHLY 67
= 30,000, 000! *14! 30,000
01 Y3 12,735 12,500 235
09 BAAHI 24 2,735 2,500 235
=0 & 12,735 12,500 235
OAMBIHZH OF3HHOl 29 L S#FAS
60,0008 *462 +33] 8,280
OR= ASIHZN LA X abl
55,0008 %272 *32 4,455
ABIEDIY S&(MEIEIIY LTEIFE NR) 1,747,000 804,444 942,556
2 1,310,250
= 87,350
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SM: KEIEAD
M NS NAR BHEH(MEEX/ e E)

el Al EHAN 28 |4 (e &
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
Al 349,400
307  glztol & 1,747,000 804,444 942,556
fas 1,310,250
= 87,350
Al 349,400
02 UAHABLASEX 1,747,000 804,444 942,556
Fas 1,310,250
= 87,350
Al 349,400
= 0l & 1,747,000 804,444 942,556
= 1,310,250
= 87,350
Al 349,400
OAM3EI|S dRtel FESAS
1,747,000,000& *14] 1,747,000
ras 1,310,250
= 87,350
Al 349,400
A EIY SH(ASI ALY AlEoEH X&) 470,000 456,000 14,000
= 280,000
= 95,000
Al 95,000
307  QI2tol A 400,000 400,000 0
= 280,000
& 60,000
Al 60,000
02 QIZBAAMNIEX 400,000 400,000 0
= 280,000
= 60,000
Al 60,000
= 0ff & 400,000 400,000 0
= 280,000
& 60,000
Al 60,000
OASIEIY ArZoNEdl X2
400,000,000 14! 400,000
= 280,000
= 60,000
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SN
X ZH -
L=

el

IAPNE RN
A LM 8sH(AMER/=S)
ASIHET 2 w4

o
ﬁ
'
Y

SH-EH. O (AN) - NRANY - B (X o) ) HDE2
Al 60,000
402 QIZ2EX=0| M 70,000 56,000 14,000
= 35,000
Al 35,000
02 QT 2AILEX(0I™THA) 70,000 56,000 14,000
== 35,000
Al 35,000
= 0ff & 70,000 56,000 14,000
& 35,000
Al 35,000
OAMBIEIIS AIEEH XI&
10,000, 000& *7JH 2~ 70,000
& 35,000
Al 35,000
Ot201e 4 (01201 X2 ALY) 80,000 280,000 A 200,000
& 40,000
Al 40,000
402 QIZEXrE0l M 80,000 280,000 A 200,000
= 40,000
Al 40,000
02 QUAT2AILEZ(0IETHA) 80,000 280,000 A 200,000
= 40,000
Al 40,000
= 0l & 80,000 280,000 A 200,000
< 40,000
Al 40,000
O0r271d S4AM(MLYE oldl)
20,000, 0003 «4H &~ 80,000
& 40,000
Al 40,000
=dE 02019 |4 75,000 75,000 0
402 QU2tXp=20lM 75,000 75,000 0
01 QUZT2AIL S (XM THA ) 75,000 75,000 0
= 0l &F 75,000 75,000 0
O=&g IS0 SHAY
15,000, 000& *5JH 2~ 75,000
SRIMH =& 57,400 9,100 48,300
201  EtI| 57,400 9,100 48,300
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2M:
I‘liH:
CHe

IAPNE RN
A LM 8sH(AMER/=S)
ASIHET 2 w4

o
ﬁ
'
Y

- - Ofl &F oK & E & 0ff A oH =
2A-F3H-H(FH) - RN - BES (Z= o) (713 o) HusZ
01 Atz 57,400 9,100 48,300
=20 & 57,400 9,100 48,300
OZe=% o3tenl 2 400,0002! *23] 800
OZRAM #A W02 &0, 22, D
50,000,0002 *14! 50,000
OE=2g ZRAUX M= 2,000 *1,000% 2,000
OZRAMEX MREE 29
200,0002! *33] 600
OZ9&3 2 0l0ICIN 22
4,000,000 *13] 4,000
ABIRIIY ASIEER X 22,858 5,000 17,858
z 16,000
[ 1,143
Al 5,715
307 QI20IH 22,858 5,000 17,858
z 16,000
[ 1,143
Al 5,715
02 DIAHMAYREE 22,858 5,000 17,858
z 16,000
= 1,143
Al 5,715
=20 & 22,858 5,000 17,858
z 16,000
[ 1,143
Al 5,715
OMBIRIIY ANalEEZ N
22,858,0002 * 14! 22,858
z 16,000
[ 1,143
Al 5,715
ASIRDIY M2l XA 217,600 30,670 186,930
z 163,200
[ 10,880
Al 43,520
307 QI20IF 217,600 30,670 186,930
z 163,200
[ 10,880
Al 43,520
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SM: KEIEAD
M NS NAR BHEH(MEEX/ e E)

SR A EEH 28 'Y (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
02 CIZHEMAIEE =X 217,600 30,670 186,930
rag 163,200
== 10,880
Al 43,520
= 0l & 217,600 30,670 186,930
Fag 163,200
== 10,880
Al 43,520
OAMIIEIIY d20o1sE X
10,880,000& *20H 217,600
Fag 163,200
== 10,880
Al 43,520
OIS01g SHAIZ (EotEd) 400,000 0 400,000
Fag 200,000
= 60,000
Al 140,000
402 QIZ2EXIE0l ™ 400,000 0 400,000
Fag 200,000
= 60,000
Al 140,000
02 SIZAX2ALEX(0IETL) 400,000 0 400,000
Fag 200,000
= 60,000
Al 140,000
= 0l & 400,000 0 400,000
Fag 200,000
== 60,000
Al 140,000
O0SJIg SHAIg (sot2d)
400,000,000& » 14! 400,000
Fag 200,000
== 60,000
Al 140,000
HES e, 0 o, M (Yt 2HEY /A 1,020,929 941,115 79,814
b )
= 64,200
Al 956,729
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SM: KEIEAD

M HUES 9E, HU0 oF, FEUND(ANTBUT/ANAE)
el HEEY = CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
FEEFH =& 1,020,929 941,115 79,814
== 64,200
Al 956,729
HE g3 ¢ 20 =20 321,280 423,950 N 102,670
201 geredl 84,700 64,280 20,420
01 Ar®2telt] 84,700 64,280 20,420
= 0l & 84,700 64,280 20,420
OFUEHI BIANY AMAIE L HFEHHH
A=Y 60,000& *2 Al 2t*x5H 33| 1,800
OFUEHEHZH S20AH]
8,000 x4H x10 x12& 3,840
OoFdOIolE & A 3,000,000& *x23] 6,000
Oddsn 849 7,910
— s T 29 1,000,000& 53] 5,000
— =W M= 477 ,500& *43| 1,910
— s ZAtHl 250,000& 43| 1,000
Ox®4dstn o2t40l 249 2,000,000& *43| 8,000
OHERUAS L solH Yoy
100, 000& ~12& 1,200
OFFFHARSG L HAM 3+
20,000 x50 23| x 128 x70/100 16,800
O3S &L oM UERZ A S
300,000& x12& 3,600
O3Y EF)| 21 5,250
— gt ZH| 400,000& 53| 2,000
— T2 )8 29 2 A 250,000& 53| 1,250
— s WM M 8,000& x50F 53] 2,000
OFEE HEZRH 4,300
— gt =H| 1,000, 000& *13] 1,000
— =82l 800,000& 13| 800
— 2 AHH] 250,000 43| 1,000
—2HT2Y9 HA 2 HOIE 150, 000& 10 1,500
OFY HFLIE XNEAH 5,000,000& *23| 10,000
OFEHBAIY E2S 29|
2,000,000& x53] 10,000
OFEFHAIY =2 M &2t
3,000,000& *x23] 6,000
202  04d| 1,920 1,920 0
01 Z2LWA b 1,920 1,920 0
= 0l & 1,920 1,920 0
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SN

MM HUEZS 918, HU S, FEUNM(AUTTHI/AUHE)
ool HUFM =X CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OF= guestizZe &t
60,0002 2 +72! 840
OFUsD DS Y2FT ol
60,0002 x2% *33] 360
OHUEstD HEX WO
60,0002 *3% +23] 360
OBUEFM A2EZ 0lHl 60,0002 *3% 23] 360
301 LsBAS 174,660 137,750 36,910
09 BAAHIRAS 74,660 25,750 48,910
=0 & 74,660 25,750 48,910
OBUZHMBOH DS L HA &It 24
25,0002 %3284 x33] 2,400
Omusm 2@ A3a, MOIU S &I
N 60,0002 *502] 1] +70/ 100 2,100
OBUFY Tz LY
40,0002 *50 %70/100 1,400
OFt X% &A= vix 02
40,0002 ¥50% ¥70/100 1,400
OHY BRI T2y IS
50,0002 +60% 3,000
OHEME T2 &)L
20,0002 %538 x63] 6,360
OoEHT AN 50,0002 *802] x23] 8,000
OBEHRLIE XA 1,000,008 *50E 50,000
12 JIEtE A3 100,000 112,000 A 12,000
=0 100,000 112,000 A 12,000
OHUEES ZEH 100,0008 *1,000% *13l 100,000
307 QI2+0lH 60,000 60,000 0
02 BAAMMLBE 60,000 60,000 0
= 0 &t 60,000 60,000 0
OHEASASAY 10,000,000 *67H £ 60,000
HUMEH 29 175,249 265,165 £89,916
= 12,000
Al 163,249
101 oIyl 113,689 210,665 £96,976
= 12,000
Al 101,689
04 JAHIRUSES 113,689 210,665 96,976
= 12,000
Al 101,689
=0 & 113,689 210,665 £.96,976
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SN

M HUES 9E, HU0 oF, FEUND(ANTBUT/ANAE)
Cel: HENH =2 GO
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
== 12,000
Al 101,689
OFUEHdH 89 g& ol4t] 29,702
—Jl2=2 19,006
& & 2,375,700& x 1 8 & 19,006
== 12,000
Al 7,006
—AELB(BAH, A2 Y S)
900,000& »1H x8& 7,200
—=0d3 28,508,400& *4.5% 1,283
—H2AEE 28,508,400 *3. 12% 890
—11s88d 28,508,400& *1.5% 428
—MHEE 28,508,400& *0.8% 229
— &) YEE 889,470& x7.38% 66
— 2 A= E 0| 60,000& *1H x103] 600
OFUEHH &9 g& olt] 83,987
i ==1 56,112
ke 66,800& x5 21! 8 & 56,112
—F534 66,800 x5 x34 11,356
—AZ2A2R S
8,350& x1.5%x10Al 2t *5H »8& 5,010
— =202 101,536, 000& *4.5% 4,570
—2ALEE 101,536, 000& *3. 12% 3,168
—101s88d 101,536, 000& *1.5% 1,524
—MHEE 101,536, 000& *0.8% 813
— &) YEE 3,168,000& *7.38% 234
— 2 A= E 0| 60,000& x5H x4 3] 1,200
201 Bt A H| 61,560 54,500 7,060
01 Ar®2te2lbl 43,480 44,900 A 1,420
= 0l & 43,480 44,900 A 1,420
OZEMHOIX, 2810 8 HWE KX B
5,000,000& *13| 5,000
OFEMEH LBt=SH| 400,000 x12& 4,800
OFUEMEH A& HZE  8,000&*300F 2,400
ou=s & M 8,000& x40 F x4 3] 1,280
OFEMH T8 89 30,000
— &It ot3tdol 18249
1,000,000& *83] 8,000
—dEAS T)H 29
1,000, 000& *83] 8,000
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SM: KEIEAD

M HUES 9E, HU0 oF, FEUND(ANTBUT/ANAE)
Cel: HENH =2 GO
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
—Fzg HEZ 29 400,000 83| 3,200
— IS 82 29 400,000 x12& 4,800
HUEUOHEs T2 29
500,000& x12& 6,000
02 33294l 18,080 9,600 8,480
= 0ff A 18,080 9,600 8,480
OFEMdH2Y 13,080
— &3 700,000 x12& 8,400
— &ol=23 200,000& x12& 2,400
—She2 190, 000& x12& 2,280
OFUEHMEH AM&EH KX
5,000,000 x 1Al 5,000
HE 28 AXel A& 420,000 252,000 168,000
301 oty Al 420,000 252,000 168,000
01 AMISIEEEHLG= 420,000 252,000 168,000
= 0l & 420,000 252,000 168,000
Qole =83Y JUSE AIY
100,000& 200 128 240,000
OFUE=9 2= FHl XNIAAL
1,000,000& x180H 180,000
HE FIX =AHIE =2 NSALS 104,400 0 104,400
== 52,200
Al 52,200
301 Qg A= 104,400 0 104,400
c 52,200
Al 52,200
12 JIEIEAZ 104,400 0 104,400
== 52,200
Al 52,200
= 0l & 104,400 0 104,400
== 52,200
Al 52,200
O&FY FHEX F=HXNLKZ2 XA
104,400, 000& * 14! 104,400
= 52,200
Al 52,200
HAESHAY| (ACIAS W) (DIIEH/DIE) 189,361 180,832 8,529
= 27,653
Al 161,708
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SM: XS AL
HM: HH2HAAH| (M ASD)(IIEH/DIIEH
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
ol 2| 127,109 114,980 12,129
= 27,653
Al 99,456
ol 2 A Y| 59,323 64,820 N5, 497
101 ol 24 H| 59,323 64,820 N5,497
01 B2 59,323 64,820 N5,497
= 0l & 59,323 64,820 N5 497
OANZe 224g
10,299& 16 *»30A| 2H+12& 59,323
ClASAY|(XNREA ZCUHOIH XNEA) 67,786 50, 160 17,626
= 27,653
Al 40,133
101 jSlals] 67,786 50, 160 17,626
= 27,653
Al 40,133
03 RIAHALZZXHE > 67,786 50, 160 17,626
= 27,653
Al 40,133
= 0l & 67,786 50, 160 17,626
= 27,653
Al 40,133
OXNKESALHE ZCIUIOIEH oI24] 67,786
—-JE23 1,745,150 x2H 128 41,884
= 20,942
Al 20,942
— g &3 1,788,000& »2H 3,576
= 1,788
Al 1,788
—=SKNENE 500,000& x2H 1,000
= 500
Al 500
— Y E S| 1,000, 000& «2H 2,000
= 1,000
Al 1,000
— = Al 130,000& x2H x12& 3,120
= 1,560
Al 1,560
— 4 B8 = 1,863,000 x2H 3,726
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S KX D
HM: HH2HAAH| (M ASD)(IIEH/DIIEH
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
= 1,863
Al 1,863
— 2454 520,000& x2H x12& 12,480
Jl=23tl 62,252 65,852 A 3,600
JlE23Hl 62,252 65,852 A 3,600
201 282 A Y| 16,652 16,652 0
01 ArE2te2lbl 16,652 16,652 0
= 0l & 16,652 16,652 0
OJISARsSSHl 230,000& «10& 2,300
O=AMEX 228l (A4)
22,000& x108f A x 128 2,640
Od=xIl X AIEBE 40,000& x12& 480
OS=AI &X AIEE 600,000& «12& 7,200
OJEge =AS As =2 ojAlyl
8,000 x6H 7 x12& 4,032
202 Ol 40,800 45,600 A 4,800
01 2L b 40,800 45,600 AN 4,800
= 0l & 40,800 45,600 A 4,800
OJIE2gR =& 2 =& bl
20,0003 *17Hx10 x12& 40,800
203 Y= 4,800 3,600 1,200
04 ENSIIERF=AY| 4,800 3,600 1,200
= 0ff & 4,800 3,600 1,200
ORMEY A&l 400,000 x12& 4,800
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